e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1,0355
O 1.022 @ 6.947 ® 7.071

@ 9.567 3 10.355
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Azrole] BE B3, EA 7P 2L gk Vg 2 ghe] A 2

e sin cos tan

10° 0.1736 | 0.9848 0.1763

20° 0.3420 | 0.9397 0.3640

35° 0.5736 | 0.8192 0.7002

45° 0.7071 | 0.7071 1.0000
® 0.6225 @ 0.8112 @ 0.8264
@ 0.8437 ® 1.1736
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34°
A

Zte sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

56° 0.8290 0.5592 1.4826
D 5.592 @ 8.29 ® 13.882
@ 923.882 3 29.107
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53° 0.80 0.60 1.33
54° 0.81 0.59 1.38
55° 0.82 0.57 1.43
56° 0.83 0.56 1.48

@D 0.57 @ 1.38 3 0.59 @ 0.82 B 0.81
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/A =45°, /B =30°<Y ], AB 9] Zo]=?

C
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D V2 @ b ® V2+ V6

@ V2+ v6 2(V2+ V6)
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@D 50v2m ® 100m ® 150m
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